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Sig. of Candidate. Sig. of Invigilator,
........................................... MATHEMATICS §8¢71
SECTION —- A (Marks 15)
Time allowed; 20 Minutes (Science Group)

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not ailowed. Do not use lead pencil.

Q.1 Circie the correct option i.e. A/ B/ C /D. Each part carries one mark.

2 0
(i) \/— is calted matrix.
0 V2
A Zero B. Unit C. Scalar D. Singular
2 1
(i) Order of transpose of 1 0 1 |is:
3 2

A 3-by-2 B. 2-by-3 C. 1-by-3 D. 3-by-1
(iii) Imaginary part of —i(3i + 2)is:

A -2 B. 2 C. 3 D. -3
(iv) Every real number is:

A A positive integer B. A rational number

C. A negative integer D. A complex number
(v A non-terminating, non-recurring decimal represents;

A A natural number B. A rational number

C. An irrational number D. A prime number

(vi) The relation y = log, x implies:

A x' =z B. 2 =x C. =y B. yio=x
(vi)  The degree of polynomial x?y* +3xy + )’ is:

A 2 B. 3 C. 4 D. 1

2 _ 32
(viii) is equal to:
a+

A (a —b)* B. (a+bY C. (a+b) D. (a—-b)
(ix) Find m so that x* + 4x +mis a complete square:

A 8 B. -8 C. 4 D. 16
(x) H.C.Fof x—2and x* +x—6is:

A x+x-6 B. x+3 - C. x-2 D. x+2
(xi) Two or more than two points lie on the same straight line are called points.

A Equal B. Collinear C. Non Collinear D. Congruent
(xii) If two sides of a quadrilateral are congruent and parallel, it is a:

A Rectangle B. Square C. Parallelogram D. Rhombus
(xii)  Two triangles are simifar if their corresponding sides are:

A Equal B. Congruent C. Proportional  D. Opposite
(xiv)  If a,b,c are the sides of a triangle and ¢ =a® + H* then itis a triangle.

A Acute B. Obtuse cC. Scalene D. Right
(xv) If two medians of a triangle are congruent, then the triangle will be:

A Isosceies B. Equilateral C. Rightangied D. Acute angled

For Examiner’'s use only:

Total Marks: 15

Marks Obtained:
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2,0
MATHEMATICS SSC-I
(Science Group)

Time allowed: 2:40 Hours Total Marks Sections Band C: 60

NOTE: Attempt any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary anawer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly. Graph paper and log table will be supplied on demand.

SECTION — B (Marks 36)
Q.2  Attempt any TWELVE parts. All parts carry equal marks. (12x3=36)

2 4 1 b 7 10
(i) if2 +3 = , Find gand 5.
-3 a 8§ -4 18 1

3 -1
(ii) tf B:[ } Find BB™'.
2 2

(iit) The third angle of an isosceles triangle is 16° tess than the sum of the two equal angles. Find the three

angles of the triangle.
1 L 1

23 x (27)° x(60)?
L U
(180)* x(4)* x(9)*
(v) Solve the following equations for real xand y.
2-3(x+i)=4+i

(v)  Simplify

1
Vi Evaluate log, —
(vi) valuate tog, 128

(viiy  Use log table to find the value of 3/2.709 x ¥1.239
(vii)  Reduce the following rational expression to the lowest form:
64x° — 64x
(8x* +8)(2x+2)

(ix)  Factorize 8x° -

27y°

(x) if xm2+\/§find the value of x——l-.
X

(xi)  Factorize (x+I)(x+2)(x+3)x+6)-3x*

(xii)  Factorize the cubic polynomial by factor theorem x° —6x +3x +10

(xii)  If x—1isa factor of x* — Kx* +11x—6 then find the value of K .

(xiv)  Let p(x)=10(x* -9)(x* ~3x+2)and g(x)=10x(x+3)(x~1) . i the H.C.F of p(x),g(x)is
10(x+3)x~1), find the L.C.M.

2 2
(xv) Find the square root by division method %m&+ 27_1_0_y+_y_2_

oy x x
(x+2)x+3) Ll 2)(2x* -32)
x*-9 (x~4)(x* —x-6)
] 1

3x+6 - g - 2x+4
(xviii) ~ Solve the following pair of equations graphically x+ y=0and 2x—y+3=0

(xvi)  Simplify this

as a rational expression.

(xvil)  Sclve the given equation s X#E-D

SECTION — C (Marks 24)
Note: Attempt any THREE questions. All questions carry equal marks. (3x8=24)

Q.3  The vertices of a triangle are P(4,6),0(-2,-4), R(-8,2). Show that the length of the line segment joining the mid
points of the line segments PR,ORis %PQ.

4  The line segment joining the midpoints of two sides of a triangle, is parallel to the third side and is equai to one half
of its length.

5  From a point outside a line, the perpendicular is the shortest distance from the point to the line.
6  Ifina correspondence of the two right angled triangles, the hypotenuse and one side of one triangle are congruent
to the hypotenuse and the corresponding side of the other, then the triangles are congruent.

Q.7  Construct the AABC . Draw the bisectors of their angles mAB=3.6cm mBC=42cm msB=175"
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Answer Sheet No.

2.1

Sig. of Invigilator.

...........................................................................................................................................................................

MATHEMATICS SSC-I
SECTION - A (Marks 15)

Time allowed: 20 Minutes

(Old Syliabus)

NOTE:

Section-A is compulsory. All parts of this section are to be answered on the question paper itself.

it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct optioni.e. A/ B/ C /D, Each part carries one mark.

(i)

(i)

(vi)

(vil)

(viii)

(ix)

{xii)

(xiii)

(xiv)

There is no proper subset of:

A Empty Set B.

If x=ﬁ+2then x—l=
X

A 4 B.

Power Set C.

243 C.

Singleton Set D.

Vx,y € R, x=y < y = xthe property of real numbers is called:

A, Reflexive B.

8.24%107*in standard form is;

Symmetric C.

A 0.000824 B. 0.0000824 C.
The characteristic of logarithm of 1500 is:
A 0 B. 3 C.
The degree of polynomial 7x°y* + x+ xy + 3 is:
A, 1 B. 2 C.
If x+-]—=7then x +i2=

x X
A 49 B. 47 C.

Factorization of 1— 82" is:

A (1-22)(1+2z+4z2%)
C. (1+2z)(1+2z+4z2%)

If x+1is factor of x> +3x+mthen m=

A. 2 B.
If | 4] = 0then Ais called
A. Identity B.

.[x y]m =

4 C.
matrix.

Inverse C.

[x+¥] C.

Construction of a triangle is possible when sides are;

10cm,3em,6em C.

—4 D.
Transitive D.
824 D.
4 D.
3 D.
51 D.

(1-22)(1 -2z +42%)
(1+22)1-2z+42%)

-2 D.
Singutar D.
[2x+ y] D.

S5em,5¢em,5cm D,

The medians of a triangle intersect each other in the ratio:

1:2 C.

Axiom C.

1:1 , D.

Given D.

Equal Set

V3-2

Trichotomy

32400

14

Adjoint

[%-2y]
2em,3cm,6em
1:4

To prove

If number of elements in set 4is 3 and number of elements in set Bis 2, then number of binary relation

A [x + 2y] B.

A. 5cm,5¢m,llem B.

A 1:3 B.

If a=b, b=cthen a=cis called:
A Postulate B.

in Ax Bis:

A 2" B.

For Examiner’s use only:

2* C.

22 D.

Total Marks:

Marks Obtained:
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22
MATHEMATICS SSC-1

(Old Syllabus)

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Attempt any tweive parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatiy and legibiy.

SECTION — B {Marks 36)
Q.2 Attempt any TWELVE parts. Al parts carry equal marks. {12x3=36)

(i) If A={2,4,6,...... 100}, B={L3,5,...... 99} and U ={x|x € N A x <100} then show that
(AN B) =A4"uUB*
(i) If 4={2,3,4,5}, B={3,5,11,15} then find A—Band B—- 4
i} If 4={1,2,4}, B={1,3,5,7} then write a binary relation Rfor Ax Bif R={(x,))|xe dnye BAay<x}

(iv)  If x=2+/3 then find the value of x* +—1?
X

Ja+2-Ja-2
Ja+2+Ja-2

b o a
(vij  Simplify befyc x} Y x,,b{J’_h
o Ay

{vii) Find the value of xif log,, 8 =—;—

3733
256.4

(ix) Find the value of x* + y’when x+y=9, x—y=3

(x) Show that [x+l] _[x._l] =4

X X

(v} Simpiify

(viti)  Use Logarithm to solve

(xi) If x+2is a factor of x* + 4x* + Kx +8then find value of 'K’
(xii)  Factorize x* —13x% +36
(xii)  Find H.C.F by division method x* + 7x* + 16x+12, x* + 5x* +13x +14

a +ab+b? +a2—-ab+b2
+b a-b

(xv)  Factorize with the help of factor theorem y* ~3y* +4

(xvi)  Find square root of (2a+1)2a +3)2a+5)2a+7)+16

(xiv}  Simplify

20 1 0
(xvii) If 4= [1 5} , B= [:2 K} then find the value of ‘ K 'such that 4B = BA

(xviii) Use matrices to solve linear equations 3x+2y=7, Sx—y=3

SECTION — C {Marks 24)
Note: Attempt any THREE questions. Ail questions carry equai marks. (3x8=24)

Q.3 An exterior angle of a triangle is greater in measure than either of its opposite interior angles.
Q.4 Iftwo angles of a triangle are congruent then the sides opposite to them are also congruent.

Q.5 The line segment that joins the mid points of two sides of a triangle is parallel to the third side and is equal to one
half of its length.

Q.6  Draw the right bisectors of the sides of A4BC when mZ4 = 105",mﬁ =6.5cm, mAC = 4.8cm
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